MECHANICAL TRANSPLANTER
MODEL 92 PARTS LIST

328 3/4” Flange Block Bearing Large Roller

940 Compression Spring Center Drop Guide
1000BJD Disc Bearing Left Drop Guide

5113 7/8” Hex Flange Block Bearing Right Drop Guide

9003 Shank for Coulter Disc Hex Shaft for Extra Roll
9003C Coulter Disc with Hub Drop Lever

9003CH4 4 Bolt Hub for Coulter Disc Drop Lock

9005 Side Arm Right Chain Mounting Arm
9008 Rear Disc & Wheel Mounting Brkt Pan Mounting Bracket
9009 Smooth Stretch Wheel Left Chain Mounting Arm
9011 Smooth Wheel Support Bracket ExtraRoll pan

9012 Rear Dirt Shield 3-Point Arm Support
9026 Dirt Shield Mounting Plate Cutter Hex Shaft

9027 Dirt Shield Mounting Bracket Cutter Arm

9034 1/2” U-bolt Cutter Arm with Cylinder Mount
9078 Dirt Shield Arm Cutter Bar

9083 Clamp for Side Arms Cutter Point (ea)

9201 Leveler Pan Cylinder Toolbar Mount
9202 Left Leveler Blade Cylinder

9203 Right Leveler Blade Lift Chain

9204L Left Blade Plastic 3/8x3-1/2” Hex Head Bolt
9204R Right Blade Plastic 5/8x6” Hex Head Bolt
9206 Dirt Pan Plastic 3/4x6” Hex Head Bolt
9208 Roller Mounting Bracket 1/2” U-bolt for 2x2” Bar
9209 Leveler Blade Mounting Bracket 1-1/4” Flat Washer
9210 Small Roller 4x4 A-frame Hitch

1395 US 17 South 147 Hwy 32 North 5038 Old Raleigh Road \/
0 E nterprises, Inc.  Elizabeth City, NC27909  Sunbury, NC 27979 Wilson, NC 27893 AN ‘
» \ Phone:(252)264-2400 Phone:(252)465-8614 Phone:(252)237-0006 we MECHANICAL

| ; 'I ’ . TRANSPLANTER
§ www.bandsent.com CEES




MODEL 92

9204L 1000BJD

9202




MT 44 Toolbar Hitch

FH571
FLS00

FUB3444

Clip Pin FH579  7/8x6-1/2" Hex Head Bolt
Lower Pin F1450 3/4” Lock Washer
Securing Plate for 4” Toolbar FL500 7/8” Lock Washer

MT 44 Right Center Upright FNH450 3/4” Hex Nut

MT 44 left Center Upright FNH500 7/8” Hex Nut

7/8x4-1/2" Hex Head Bolt FUB3444 3/4” U-bolt for 4x4 Bar

Drip 92 Drip Attatchment

1038 Drip Tightener Handle
5020 1” Flange Block Bearing
9235 Drip Tape Guide

21001 Spool Holder Disc
21055 Spool Rod

21056 1” Wing Nut

21057 L Shaped Brake Arm
21058 Nylon Brake

21060  Upright Bracket
FUB1222 1/2” U-bolt for 2x2 Bar
FUB5844 5/8” U-bolt for 4x4 Bar
FW550 17 Flat Washer

FUB5B44

U

_~FUbleee

|




